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SEC(&) PHYSICS

1. An electron enters a magnetic field at right
angles to it, as shown in figure. The direction
of force acting on the electron will be

>
—3 Magnetic field
>
Electron
(a) to the right (b) to the left

(c) out of the page (d) into the page

1. U TAH U G &5 H 3Eeh G0 I AT SR 2,
S for fort o fa@man w21 S W i arel e sy e
=1 2?2

(a) &TS 3R (b) TS 3R (c) I8 VTR (o) TYH

2. Which of the following is a renewable source
of energy?

(a) Coal (b) Natural gas

(c) Wood (d) Petrol

2. Fgfafed # 9 &1 91 Solf &1 Tdlexuiia Jid 52
(a) PIC (b) HTPTer T

(0) TP (d) Ul

3. To produce biogas in a biogas plant, we need
(a) air but not water (b) water but not air

(c) air and water (d) neither air nor water
3. T IRINTY T3 # SRR 1 Il B & g,
TH B o §

(a) B4 TS T =Y (b) T+ AT g 7Y

(c) T4T 3R U (d) 7 off §aT 3R 7 g Uit

4. The magnetic field lines due to a straight
wire carrying a current are

(a) straight (b) circular

(c) parabolic (d) elliptical

4. U YRT P! o O dTet Ueh 1Y dR &b HRUI Jab g
&3 /T 1 3?

(a) YT (b) FTMPR

(c) IR (d) USTHR

5. The defect of vision in which the person is
able to see distant object distinctly but cannot
see nearby objects clearly is called

(a) Long-sightedness(b) Far-sightedness

(c) Hypermetropia (d) All above

5.31® Qv forws <afh gy &1 avg @ TuE
¥0 8 &@ HHdT ¢ lfhed UMH AT T Bl
TAE U H 8 ¢W ThdT &, heclldl &
(A)I&Rar (B =¥

(C) TEWACITAT (D) SWh TH

6. The image formed on the retina of the
human eye is

(a) virtual and inverted (b) real and inverted
(c)real and erect  (d) virtual and erect

6. AT 3TE P AT UT I arell giafas
©

(A)3THTE 3R 3eler (B)ardfasd 3R 3ec
(C) arEaias 3 drer (D) 3o 3R e

7. At noon the sun appears white as

(a) light is least scattered

(b) all the colours of the white light are
scattered away

(c) blue colour is scattered the most
(d) red colour is scattered the most

7.3810eX & TAT I The, @S ar &
(AT T8 A fI@T g3 &
(B)Tthe U1 &b TH T IR S &
(C) e W1 HIA ST fIerm g3m
(D) offel TT I STl fIERT §37 ©

8. Magnetic effect of current was discovered by
(a) Oersted (b) Faraday

(c) Bohr (d) Ampere

8. URT & Yahrg UHTd P Wil fhadh gRI
$r 7S AN

(A)3EES (B)URTS

(C) M (D) TFURR

9. A.C generator works on the principle of
(a) force experience by a conductor in
magnetic field

(b) electromagnetic induction

(c) electrostatic

(d) force experience by a charge particle in
electric field
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9. A.C TRX Tohadh RIgd W FI AT &7
(A)ITHT & H Teh Phseed gRT Il IHFHT
(BYfageT goarehrar U

(C) SelaeIeeiesd

(D) faga & & Irol HUT gRT daf IHFHT

10. Which of the following mirror is used by a
dentist to examine a small cavity?

(a) Concave mirror (b) Convex mirror

(c) Combination of (a) and (b)(d) None of these
10. fr=fafea & & fore gdor =61 3uamT <q fafreass g0 T BT
8T T ST A o forg foram ST 82

(a) seaa gdor  (b) 3T U

(¢) (a) = (b) (d) r e 7 & PIg e

11. Which of these mirrors will give the full
image of a large object?

(a) Plane mirror (b) Concave mirror

(c) Convex mirror (d) None of these

11. 78 & =19 |1 3uor Ush srgl aheq sht gt Bfer am?

(a) g9aw g9 (b) s1aae gdur

(c) 3ve et (d) 57 & =¥ T

12. The power of a lens of focal length 25 cm in
diopter is

(a) 025D  (b)2.5D
(C)40D  (d)0.4D
12. st 25 &t wiohet efamé % e 1 wRE 3
(a)025D  (b)2.5D
(C)40D  (d) 04D

13. An object is placed at the centre of
curvature of a concave mirror. The distance
between the image and the pole is

(a) equal to f (b) greater than f but less than 2f
(c) equal to 2f (d) greater than 2f

13. T a%q ®I SFFq U1 o FHdT o g H [T S 8l BT
I g o it ot gl 7 27

(a)f (b) & s, f & =t oiferd 2f

(c) T=w 2f (d) = swer 2f @ s1feres

14. A normal eye can see objects clearly that
are between

(a) our eye and infinity(b) 25 cm and infinity
(C) 50 cm and infinity(d) 100 cm and infinity

14. o amT=r 37 I ST T T § TG GohdT & ST
(@) Tt 1w i awa (b) 25 @ft ofiv s

(C) 50 &t st

(d) 100 &ft 3ty st & oftar &

15. The sky would appear red instead of blue if
(a) atmospheric particles scatter blue light
more than red light

(b) atmospheric particles scatter all colours
equally

(c) atmospheric particles scatter red light more
than blue light

(d) the Sun was much hotter

15. stmermer it &1 % s e fewrs At

() ATIHSTT T AT SRR T T H At SRR I AIH
ferae-forat ohtd €

(b) amgreeti For wft & ot wue ' § foa-fom = €

(C) ATt T et YehTT 3T AT H AT JehIeT I e
forae-forae s §

(dl) g 7 et e

16. For normal vision, what is minimum
distance of object from eye?

(a) 25cm (b) 30 cm

(c) 40 cm (d) Infinite

16. | 3fE % foru, A & g T =fAaw gl 7 87
(a) 25 @t (b) 30 &t

(c) 40 &=t (d) Infinite

17. When light rays enter the eye, most of the
refraction occur at the

(a) crystalline lens  (b) outer surface of
cornea

(C) iris (d) pupil

17. SteT et T30t 31 & 9aeT el €, dt STferehisr e
it it

(@) foreectim oiw  (b) st wae w aa §

(C) smsfm (d) gaeit

18. One kilowatt hour is equal to
(2) 36 x10°>] (b) 36 x103]
(c)36x10°] (d) 36 x103]

18. w forcirare Her =

(2) 36 x10°>] (b) 36 x103]
(c)36x10°] (d) 36 x103]
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19. The force acting on an object perpendicular
to the surface is called

(a) Pressure (b) Thrust

(c) Impulse (d) Area

19.q§$aaaaaﬁuvao‘rcfmﬁaﬁwaﬁww
ST /7
(30) G4 (b) TONG () AT (T) &

20. The S.I. unit of buoyant force is
(a) pascal (b) joule
(c) newton (d) kgm/s

20. UHcd S0 &I THATS IPhTs o1 87

(30) URebe (&) SIS () e (d) fopam Hi/&ebs

21. Inertia

(a) sets objects in motion

(b) causes changes in motion

(c) is the result of a net force

(d) is directly proportional to the mass of an
object

21, gl

(a) I & aq3ft 1 Ue a1 §

(b) TIfar # aRkad &1 SR §d1 8

(c) U fad 9 1 uRumg 8

(d) fpdlt avq & oA & W 3o §

22. Force is defined as

(a)a change in momentum

(b) rate of change of momentum

(c) the quantity that opposes inertia
(d) the quantity that keeps the velocity
constant

22. 9 &1 39 U H gRHING fopar mar g
(37) HaT1 H uRad- (@) T gRadd P a2
(¢) TSl BT faRIe H= aTelt AT
(d) T8 HET S 977 ! FRR 3Tl §

23. Which of the following is an equation of
motion of a body?
(a)p =mv
(cJv-u=at

(b) F=ma
(d) Ft=mv - mu

23. frgfafed # @ o a1 ot ffs &t 1 &1
THIPRUT 57
(a)p = mv
(cJv-u=at

(b) F=ma
(d) Ft=mv - mu

24. Passengers standing in a bus are thrown
outwards when the bus takes a turn suddenly.
This happens because of

(a) outward pull on them (b) inertia

(c) change in momentum(d) change in
acceleration

24. 59 H TS TR B! 918 B1 3R B feur Sran g
9 99 3EHS 43 ST 81 3! goig I U1 gl §
(a) 3 WR 9183} &AM (b) ST (¢) a1 & uRkad (d)
@_o & uRada

25. Newton's second law gives a measure of
(a) velocity (b) force
(c) momentum (d) rate of motion

25. e BT ga’T 499 g 119 3a1 82

(30) O (&) & () AT (d) T BT &R

26. The motion of the moon around the Earth is
due to the centripetal force. The necessary
centripetal force is provided by

(a) gravitational force(b) force of friction

(c) electrostatic force(d) magnetic force

26. Gadl & TRT 3R AGHT Bt 7T F<=UIRD gt b
HRUT B B | SMIID H-AIRS I [ gRI
Y forar ST /2

(a) TTEATHY I (b) TYUI 9 (¢) degaRAfad T (d)
ECCIRE]

27. The value of G was found out by
(a) Issac Newton (b) Johannes Kepler
(c) Galileo Galilei (d) Henry Cavendish

27. G ®1 UM [ gRT 1 fowam am T
(a) 3T e (b) SN HUTR (c) Taitferdl Aefett
@) T FHafew IR &

28. The value of acceleration due to gravity
near the Earth's surface is
() 9.8m/s (b)9.8m/s?
(c)89m/s (d)8.9 m/s2

28. Gl BT FAg & UNI HATH YUl & HRUT &RUT BT
AH 1 62

() 9.8m/s (b)9.8m/s?

(c)89m/s (d)8.9m/s?

29. The S.I. unit of G is
(a) Nm? kg2 (b) Nm? kg?
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(c) kg ms-2 (d)kg ms-2 33. Human body works within the pH range of
(a)7.0t0 7.8 (b)4.5t0 5.6
29. G 1 THSATS IHTS FT 87 (C) 13.0 to 14.0 (d) 1.2 to 2.2
(a) Nm? kg2 (b) Nm? kg2 33. T4 IRR Bt Hieg HH1 & iR S a3l §
(c) kg ms-2 (d)kg ms-2 () 7.0t0 7.8 (b)4.5t0 5.6
(C) 13.0 to 14.0 (d) 1.2 to 2.2

30. The universal law of gravitation was
postulated by

(a) Galileo  (b) Newton

(c) Copernicus (d) Archimedes

30. @B YUl & rdHITS a9 &1 feae grI Uk
foram T ur?
(a) TeNferl (b) =g (o) PIRMAH (@) MBS

SEC(8) CHEMISTRY

31. Which of the following are exothermic
processes?

(i) Reaction of water with quick lime

(ii) Dilution of an acid

(iii) Evaporation of water

(iv) Sublimation of camphor (crystals)

(a) (i) and (ii) (b) (i) and (ii)
(c) (i) and (iv) (d) (iii) and (iv)
31. FEffRa A 3B @ Tfohant g7

(i) <RE = @ TR Y R (i) 31t BT AR
(iii) TSl T ATIHRT (iv) PR (e d) BT IEABRUI
(@) (i) 3R (i) (b) (i) 3R (ii)

(© (i) 3R () (d) (iii) 3R (iv)

32. Which of the following are combination
reactions?

(i) 2KC103—2KC1+302 (i) MgO + H20

—Mg(OH)2

(iii) 4A + 302 —»2AlL203 (iv) Zn+FeS04 —
ZnSOs+Fe

(a)(i) and (iii) (b) (iii) and (iv)

(c) (i) and (iv) (d) (ii) and (iii)
32, Fpfared & 9 H I wae ufafean 8

(i) 2KCI03—2KCl+302 (ii) MgO + H20
—Mg(OH)2

(iii) 4A + 302 —»2A1203 (iv) Zn+FeS04 —
ZnSOs+Fe

@) (i) 3R i) (b) (i) 3R (iv)
(@) (i) 3R (iv) (d) (ii) 3R (Gii)

34. Fruit juices, such as orange juice, contain
(a) boric acid (b) citric acid

(c) sulphuricacid  (d) nitric acid

34, Tl & I, S "ol BT 39, MM &

(a) SR TR (b) WS RIS

(©) TR RS (d) Tsfew Tfrs

35. Which is a soluble base in water?
(a) Cu(OH)2 (b) Fe(OH)s

(C) Zn(OH)2 (d)KOH

35. O § gaIRid YR I A1 87

(a) Cu(OH)2 (b) Fe(OH)s

(C) Zn(OH)2 (d)KOH

36. In general, salts

(a) are ionic compounds.(b) contain hydrogen
ions.

(c) contain hydroxide ions.(d) turn blue litmus
red.

36. I IR WR, AUl

(a) STAMS A |

(b) BTSGISIH 31 T T h=ell &1

(©) ¥ GEGIRIES M BNl 1

(d) =it fereT & ATt R ¢ |

37.Na* has

(a) 11 protons, 10 electrons
(b) 10 protons, 11 electrons
(c) 12 protons, 11 electrons
(d) 11 protons, 12 electrons

37.Na+ &

(a) 11 TS, 10 TG (b) 10 T, 11 Jeae
(€) 12 T, 11 SaaCiF(d) 11 W, 12 SadgiA

38. Which of the following property is
generally not shown by metals?

(a) Electrical conduction(b) Sonorous in nature
(c) Dullness (d) Ductility

38. frfafiaa & & 1 |1 707 AR T g g T fewmn
STt 87

(a) Frege =rer (b) s # e
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(c) gwdit (d) =i

39. Analloy is:

(a) an element

(c) a homogeneous mixture
(d) a heterogeneous mixture
39. s firr wnq 2
(a) o 7

(¢) U Tl fiysgor
(d) w= foww fasror

(b) a compound

(b) w= it

40. An electrolyte cell consists of:
(i) positively charged cathode
(ii) negatively charged anode
(iii) positively charged anode
(iv) negatively charged cathode
(a) (i) and (ii) (b) (iii) and (iv)

(c) (i) and (iii) (d) (ii) and (iv)
40). T goHRITEE U ¥ I TR B
(1) &FTcHeh ®9 & TR e

(i1) RurTcHe €9 ¥ AR THS

(iii) &R ®9 & ARG TS

(iv) T SAERTT e

(a) (i) = (ii) (b) (iii) 3 (iv)
(C)(i)sir (iii)  (d)(ii) = (iv)

41. Generally, non-metals are not conductors of
electricity. Which of the following is a good
conductor of electricity?

(a) Diamond (b) Graphite

(c) Sulphur (d) Fullerene

41. 3 IR R, T oarge fosteft & et 7 8. Frafafaa & &

I 91 forsTefl =1 U s Teish 87
(a) & (b) IwrEe
(c) FeHt (d) perd

42. Electrical wires have a coating of an
insulating material. The material, generally
used is:

(a) Sulphur (b) Graphite

(c) PVC (d) All can be used
42 foteft % anl § Uk 3gere |t A HIfET St 21 SR W
TN T S ATl ATt 39 TR 2

(a) oot (b) T

(C) deftelt

(d) weft =1 3w foRaT ST TeRaT &

43. A molecule of ammonia (NH3) has

(a) only single bonds(b) only double bonds
(c) only triple bonds

(d) two double bonds and one single bond
43, smitar (NH3) & w1y #

(a) et wha aiE (b) Fad s di

(¢) Fadt feuat s

(d) 31 vt sie iR Tk e S BT @

44. Which of the following statements are
usually correct for carbon compounds? These
(i) are good conductors of electricity.

(ii) are poor conductors of electricity.

(iii) have strong forces of attraction between
their molecules.

(iv) do not have strong forces of attraction
between their molecules.

() (i) and (iii) (b) (ii) and (iii)
(c) (i) and (iv) (d) (ii) and (iv)
44 e Mfirert o fore fF=fafed § @ 9 91 FeF S /@
wE BT 8? A

(1) forstett & 31 e @

(i1) foreft & e shewe 2

(ii1) 37 ST & ofer AR % ATE ot B E

(iv) 3 [T % St STTRNT % Heflq oIt Tel 2 2

(a) (1) 3 (iii) (b) (i1) =k (iii)

(c) (i) 3 (iv) (d) (i) = (iv)

45. Carbon exists in the atmosphere in the form
of

(a) carbon monoxide only.

(b) carbon monoxide in traces and carbon
dioxide

(c) carbon dioxide only.

(d) coal.

AS. e agHed § had

() e AHTsEETEE % &9 7 9NE 2

(b) e TITRTEE At ML § 3 e SEeiiTaEe
(C) =i eSS

(d) =rem

46. Pentane has the molecular formula CsHiz. It
has
(a) 5 covalent bonds (b) 12 covalent bonds
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(c) 16 covalent bonds
bonds
46. G smorfass w1 CsHiz 2. 5o

(a) 5 vedarst s (b) 12 deaase seuq
(c) 16 TS s
(d) 17 wegarse sty &

(d) 17 covalent

47. The name of the compound CH2-CH2-CHO is
(a) Propanal (b) Propanone

(C) Ethanol (d) Ethanal

47. =t CH2-CH2-CHO = am

(a) Propanal (b) Propanone

(C) 3ot (d) wmer &

48. Which of the following statements about
the Modern Periodic Table is correct?

(a) It has 18 horizontal rows known as Periods
(b) It has 7 vertical columns known as Periods
(c) It has 18 vertical columns known as Groups
(d) It has 7 horizontal rows known as Groups

48. 3MYFH 3fad IRult & IR H FHgfeiea § § o
1 HYT Tal 87

(a)‘{%ﬁw afas dfeaar & o= 3afy & =u & orn
TIG)l
(b)sgﬁm;%afmﬁu%ﬁl%&ﬁf%ﬁwﬁw

ST
(c)é?éﬁ%@ﬁfﬂ?ﬁﬂ%ﬁl%ﬂﬂﬁ%ﬁqﬁw

ST
(d) 3H 7 &fast dfaqar § 5= I9g & =u # o
ST 8

49. Which one of the following phrases would
be incorrect to use?

(a) A mole of an element(b) A mole of a
compound

(c) An atom of an element

(d) An atom of a compound

49, FEfafad & & S 91 IR IUIRT A & oIy
TeTd gII?

(a) T dcd &1 T fId (b) TH ARH &1 T fodd

(c) Tl e T TRHATY] () TP AMfiTeh BT TRAIY]

50. The law of constant proportion was
proposed by
(a) Dalton
(c) Joseph Proust

(b) Avogadro
(d) A. Lavoisier

50. FRER 3uTd &1 9w forads gRT wRafad fosar
T Y12

(a) STeeA (b) @S

(c) ST YIS (d) T. ATAZRIR

51. 1.0 mole COz contains

(a) 6.022 x 10-2> atoms of carbon

(b) 6.022 x 10-23 atoms of oxygen

(c) 6.022 x 1023 molecules of CO2(d)3 g atom of
CO2

51. 1.0 Hid CO2 ¥ 2NfHd §

(a) 6.022 x 10-2> atoms of carbon
(b) 6.022 x 10-23 atoms of oxygen

(c) 6.022 x 1023 molecules of CO2

(d)3 g atom of CO2

52. The atom is indivisible, was proposed by
(a) Einstein  (b) Lavoisier

(c) Dalton (d) Proust

52. TRATY] AU §, GRT URaTad foam a7 T
(a) MM (b) ATAZRRR () STee (d) UK

53. One atomic mass unit of carbon-12 is
(a)1/12 of the mass of one 12C atom
(b) 6.022 x 10%3g

(c)i2g (d1g

53. BIa-12 P Th TRHTY] GHHH SHTS FT 87
(a) T 12C UHTY] b ST BT 1/12
(b) 6.022 x 102 UTH (c) 12 I (d)1 UTH

54. Modern atomic symbols are based on the
method proposed by
(a) Dalton

(c) Bohr

(b) Berzelius
(d) Mendeleev

54. 3¢~ URHTY] Ucildh fohdids gRT URaiifad fafdr i
3R &2

(a) STeTA (b) FoICr™ (c) 18 (d) Hedla

55. Numerical value of Avogadro's number is
(a) 6.022 x 1023 (b) 6.022 X 1020

(c) 6.022x 1015 (d) 6.022 x 10-24

55. Avogadro's @1 TReAT &1 WRATHS A &7 §?
(a) 6.022 x 102 (b) 6.022 X 10%° (c) 6.022 x 10
(d) 6.022 x 102

56. The chemical symbol for nitrogen gas
(N (b)Ni (c)N* (d)N:
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56. HE@GF[ T & forg e udie (c) Translocation (d) Transportation

(AN (b)Ni (c)N* (d)N: 62. AT SGRYT & &0 U Nl F T Bt g1 & ©9 §

57. The process of separation of insoluble EIRIESIGIES

solids from a liquid is called: (a) ST (b) ATSITSH (c) RITAIRYT (d) TRagH

(a) Filtration(b) Decantation

(c) Crystallisation (d) Evaporation 63. Light energy is converted into chemical
energy during the process of :

57.Th RA Y S RiTd 3 Terif & GYFHRU] Dl (a) Respiration (b) Photosynthesis

UfehaT ) FHeT ST &: (c) Transpiration  (d) Fat metabolism

(a) =TS (b) FGEH () fobeeddienRT (d) ardiepon 63w St o1 ST 3 AN T S i affda &
STTT 2

f:ﬁg:lf,fsme of the colloidal particle is in the (a) =t (b) seerer s

(a)iAto 100 A (b)1 nm to 100 nm (c) et (d) = s

(c)10°mto 10-°m (d) 10-° cm to 10-7 cm
64. Which organisms are capable of

58 HIAZST HUI HT MHR fHaam W H 77 photosynthesis?
(a)iAto100 A (b)1 nm to 100 nm (a) Plants only
(c) 10°mto 10m (d) 10 cm to 107 cm (b) Plants and some bacteria
(c) Plants and algae only
59. An example of a liquid metal and a liquid (d) Plants, algae, and some bacteria
non-metal is 64. 7 T Sfta yerTeT TeIur § warT 87
(a) gallium, mercury (b) mercury, chlorine (a) e @2 (b) e 3R F et
(c) mercury, bromine (d) bromine, sulphur (c) it 3iT e e

(d) vy, S, 39 3w St
59. Udh TR YT 3R Th aRa TR-YT PT U IaTeR0l >

?

?:?T%ﬂﬂ URT (b) TR, A 65. On the basis of his natural eating habits, a

@'Jﬂ:fl aﬁﬁr:rl TR human is :
(@ A1 (@ ' (a) A herbivore (b) A carnivore

. o An omnivore (d) A granivore
60. Which out of the following is a (c) - . ‘
heterogeneous mixture? 05. St sTegfce: T 1 . ST, T T
(a)air (b) brass (a) o wmert (b) v e
(c) lodised table salt (d) steel (C) w wepweft (d) wh THem @
60. Fafafea o 4 ?ﬁff Rl ﬁwy fhreor 82 66. An artery is a vessel that carries :
(31) I (b) GIdd (c) SIS <o THSD (d) FT (a) Oxygenated blood

(b) Deoxygenated blood
SEC(C) BIOLOGY (c) Blood away from the heart

(d) Blood towards the heart

61. What is the source of the energy that flows 66. e T AT S

through the living world?

(a) Photosynthesis (b) Sun (@) SRS 36 T 1 F St @
(c) Respiration (d) ATP (b) Srefifistfa
61. Sfifsra giam % A & s areft 1 w1 did 7 e? (C) fewr & g w (d) Tt ot 3Tk 6
(a) e w=gor (b) 7 (c) e (d)
67. The basic unit of a vertebrate kidney is :
62. Loss of water from the plants in the form of (a) Nephron (b) Neuron
vapour state is known as : (c) Urethra  (d) Flame cell
(a) Imbibition (b) Transpiration 67. FTHT T2 A1 7T TS
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(a) Tt () =
(C) i (d) Sare wifr 2

68. The most extensively developed region of
human brain is :

(a) Cerebrum (b) Hypothalamus

(c) Midbrain (d) Optic chiasma

68. AT ARk T god I I T forehfEd &

(a) som (b) srEarkmE

(C) firesi (d) siffees formem @

69. In all the Mendel's experiments, the two
alleles causing a trait were:
(a) Co-dominant

(c) Incompletely dominant
(d) Dominant-recessive
69. Ted & Tt JIT H, ek foreryar ¥eT S Aot & vefte O
(a) we-wr@ (h) 8-t

(C) ¥t &7 & sr@

(d) wr@E-atret

(b) Co-recessive

70. In a Mendelian monohybrid cross, which
generation is always completely heterozygous?
(a) F1 generation (b) F2 generation

(c) F3 generation (d) None of these

70. w Hefer AHETsie e H, HiF | e s i 9 ¥
forempmstt St 22

(a) F1 et (b) F2 it

(c) p3 Wit (d) 37 & =18 7=

71. A boy has the blood group ‘O'. What is true
of the inheritance of this blood group in his
case?

(a) His mother could be homozygous ‘A’ group
(b) His father could be homozygous 'B' group
(c) Both his parents could be heterozygous ‘A’
group

(d) His mother should be with 'AB' blood group
71. T g 1 T GE ST 21 36 AT H 6 T §E h
forrea =1 T T 27

() Sweht At grgws 'A' 9rE 8wt @

(b) w forar TSt 'B' g & wehd §

(c) 38 Aar-far a1 formgmst 'A' wye (d) 3wt @t 'AB'
Th WE % A1 BT TRy

72. The largest unit in which gene flow is
possibleis a:

(a) Population (b) Species
(c) Sub-species (d) Genus
72. vad €t ghrs fed ST vaTE €@ve €, U

(a) smE (b) sefa

(¢) -t (d) shww 2

73. When a population is small, there is a
greater chance of :

(a) Mutations (b) Genetic drift

(c) Gene flow (d) Natural selection

73 STel Ueh SHEEAT DI BT,

(a) ScafEd

(b) sTrefirer ST it ik HwTEAT et B

(c) S war (d) wrpfaes ===

74. The exchange of genetic material takes
placein:

(a) Vegetative reproduction
(b) Asexual reproduction
(c) Sexual reproduction

74. St Al w1 SAEHE-NEH
(@) Feafe go== & 2ar @

(b) s7eifier w57+ (¢) I ot (d) Taifea

(d) Budding

75. How many autosomes are present in a
human male?

(a) 2 (b) 44

(c) 46 (D)48

75. ©h AME ge | fohe Sfieem Hieg 87
(a) 2(b) 44

(c) 46(d)48

76. How many ‘Y’-chromosomes are present in
a human female?

(a) 1 (b) 2

(c) 44 (d) 48

76. v e wfee § e 'Y -Tog g @ €7
(a) 1(b) 2

(c) 44(d) 48

77.lodine is necessary for the synthesis of :
(a) Thyroxine (b) Insulin

(c) Adrenaline (d) Estrogens

77. sEEH

(a) Thyroxine (b) sgfer
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(¢) TgreA
(d) Estrogens 3 ©s3uur & foTw stawerss &

78. Cerebellum, medulla and pons are the parts
of

(a) Forebrain

(c) Hindbrain

78. Gftdem, e SR 9
(@) wiH (b) fresa

(C) fees (d) T i st & fewr &

(b) Midbrain
(d) Spinal cord

79. Which of the following is not a receptor?
(a) Eye (b) Ear

(c) Tongue (d) Muscle

79. fafafed & @ =i o1 v fereet 72 872

(a) =1i@ (b) &M (c) siw (d) wiewsh

80. The term 'cell' was given by
(a) Leeuwenhoek(b) Robert Hooke
(c) Flemming(d) Robert Brown

80. YT Veg fobdreh gRI feammar oy
(a) FIATEIF (b) IMeC &P () T (d) e T3

81. Who proposed the cell theory ?

(a) Schleiden and Schwann(b) Watson and
Crick

(c) Darwin and Wallace(d) Mendel and Morgan

81. PR Rigid &1 Udd food= 31 U1?

(a) TS 3R 4 (b) ATcHT 3R fhep

(c) S1fd 3R a1 (d) Hed iR Al

82. The longest cell in the human body is

(a) nerve cell (b) muscle cell
(c) liver cell (d) kidney cell

82. A9 IRR Bt T8 Tdll IR 1 82
(a) AT PIRIBT (b) TFGURR DI () THd
DHITABT (d) T3 DI HIRIBT

83. Middle lamella is formed of

(a) calcium pectate (b) cellulose

(c) hemicellulose (d) lignin

83. A AT [P ToTQIATR?.

(a) HIeRTH TFRT (b) FIAS (c) BB
(d) feifer

84. Plasma membrane is
(a) permeable (b) selective permeable
(b) semipermeable(d) impermeable

84. WelleH]

(a)%mm (b) TIATHD URITH (b) SR (d)
3

85. Lysosomes are also called
(a) suicide bags (b) digestive bags
(c) demolition squads (d) all the above

85. TSI BT Ht HET Il &
(a) 3MTETET U (b) T A (c) faedg o=
(d) ST T+t

86. Contractile vacuoles take part in
(a) absorption of water from outside
(b) osmoregulation

(c) excretion (d) bothbandc

86. et gai Rfdaeg yrr adt §

(a) STER I TdT T AN (b) SR
() ST (d) & 3R TG

87. Centrosome occurs in

(a) plant cells (b) animal cells

(c) animal cells and some lower plant cells
(d) all the above

87, T2 Bl & |

(a) UTGY HIRIHTE (b) T PIRIBTE

() IY HIRM®TY 3R F Faa Urey HIfRAB1T
(d) SIS it

88. Ribosomes are made up of
(a) lipoprotein (b) RNA

(C) protein  (d) both (b) and (c)
88. IS foradl & BId 82

(a) FeTOIEH (b) SIRTAT () UIEH

(d) & (b) 3R (<)

89. Colourless plastids are known as

(a) leucoplasts (b) chromoplasts

(c) chloroplasts (d) none of the above
89. VeI WS &1 fohd U H ST STl 87
(a) TIDIWRC (b) ThIATRIRS

(c) FRIERE (d) Sugad H I3 el

90. Chlorophyll is present in
(a) matrix  (b) stroma

(c) cristae  (d) thylakoid
90. FARIfhd H HIN[G
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(a) AICH (b) L (¢) Thke (d) YTATDITS

SEC(D) MATHEMATICS

91. If the number 9y 7 is a multiple of 3, then y
(a) 4 (b)3

(c)6 (d)2or5or8.

91. T WA 9y 7, 3FBIUNI B, M y =

(a) 4 (b) 3

(c)6 (d)2or5or8.
92. The negative of -2 is

(a) -2 (b) 2

(c) -12 (d) 12

92. -2 BT FBUINHD I 57

(a) -2 (b) 2

(c) -12 (d) 12

93. What is the number of sides of a triangle ?

(a)1 (b) 2
(©) 3 (d) 4.
93. FAYS BT YoTraif &} T a1 77
(@)1 (b) 2
(©) 3 (d) 4.

94, The sum of the measures of all the three
angles of a triangle is

(a) 90° (b) 180°
(c) 360° (d) 720°.

94. Y & <f=11 HI0T & [T T AR T ]2
(a) 90° (b) 180°

(c) 360° (d) 720°.

95. Which of the following statement is false ?
(a) All the rectangles are parallelograms

(b) All the squares are rectangles

(c) All the parallelograms are rectangles
(d)All the rhombuses are parallelograms

95. fAufafEad & ¥ HH I YT T 82

(a) Tt 3mad TR Tqye € (b) Tt af smaa §
(©) T} TR Tqyet oma §

@ Tt TS gaiaR aqys §

10

96. All six faces of a cube are:
(a) Identical (b) Different
(c) Circular (d) Rectangular

9%.THF T F TN BT YN &
(a) TAM (b) fHF (c) IRTH (d) SMIATHR

97. The common factor of 10ab, 30bc, 50ca is

() 10 (b) 30

(c) 50 (d) abc.

97. 10 Tal, 30 &ft, 50 WY HT AT UHES T §7
(a) 10 (b) 30

(c) 50 (d) abc

98. Every .......cocivennins Number is smaller than 0.
(A)  positive (B)  rational

(C)  natural (D)  negative

98. B oo T8 0 W BI 5

(a) IBHRIHD (b) AT () MHTdd (G) FHUMTHD

99. The diagonals of a square bisect each other

at angle.
(a) acute (b) right
(c) obtuse (d) reflex

%qgaﬁ$ﬁaﬁuf_aﬁwwwwaﬁﬁmm
|

(31) T PIT (b)FHBIT

() 319 BT (d)ywfaadf o

100. The fraction 2/5 converted to percentage
is

(a) 20% (b) 30%
(c) 40% (d) 50%.
100. f¥ret 2/5 ufa=ra # uikafda foar man g2
() 20% (b) 30%
(c) 40% (d) 50%.

101. Out of 40 students in a class, 25% passed.
How many students passed ?

(a) 20 (b) 10

(c) 30 (d) 40.

101. ws e 5 40 st 7 &, 25% 3ol gu) fora formeff
Iftor gu?
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104. How many terms are there in the
expression 5xy? ?

(@1 (b) 2

()5 (d) 3.

104. S 5xy? H fbd g g7

(@1 (b) 2

()5 (d) 3.

105. The like terms of the following are
(a) X, 3x (b) X, Zy

(c) 2y, 6xy (d) 3x, 2y

105. fFyfeRad & 99 ug &:

(a) X, 3X (b) X, Zy

(c) 2y, 6xy (d) 3x, 2y

106. How many vertices does a cube have ?
(a)8 (b) 6

(c) 4 (d) 2.

106. TP T & foa= DI BId o7

(a)8 (b) 6

(c) 4 (d) 2.

107. Which of the following numbers is not
divisible by 2 ?

(a) 200 (b) 40

(c) 66 (d) 83.

107. Fafafad 7 9 o9 < T 2 3 faursy T8 82
() 200 (b) 40

(c) 66 (d) 83.

11
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(a) 20 (b) 10 108. The root of the equation 9z - 15=9 - 3z is
(c) 30 (d) 40. (@)1 (b) 2
102. The expression x + 3 is in (c)3 (d) 4.
(a) one variable (b) two variables 108. JHIHRT 9z — 15 = 9 — 3z BT G AT 87
(c) no variable (d) none of these (@)1 (b) 2
(c)3 (d) 4.
102. AF® x + 3T
109. A cubic polynomial is a polynomial with degree
(a) = (b) a1 =R () #1E = (d) T4 & 1 e 8 (A)1 (B)3 (0 (D)2
103. The value of 5x whenx =5 is 109.@‘&?6@'@@%%&’@6@'@%
(@) 5 (b) 10 (A) 1 (B)3 (C)0 (D)2
(c) 25 (d) -5.
110. Abscissa of a point is positive in
103. x = 5 811 UR 5x BT A KT gRTI? (a) quadrant I only - (b) quadrant II only
(@) 5 (b) 10 (c) quadrants I and II (d) quadrants I
(c) 25 (d) -5. and IV
110. T foig 1 Uit foped et 52

(a) TR | Had (b) IIUF 1l Haa
() TR 1 3R 11 (d) T | 3R IV

111. How many sides does decagon has?

(a) 8 (b) 10(c) 6 (d) 12
111. SHIH & fba- gar g2
(a) 8 (b) 10(c) 6 (d) 12

112. A linear equation in two variables has maximum :
(A) only one solution (B) two solution
(C) infinite solution (D) None of these

112. &1 TR H U I FHip0 7 3ifdepad 8
(a) A U GHIYT (b) &I GHTYT
() 3FFid THIYT (d) 395 A PIg g

113. The fraction 2/5 converted to percentage is
(a) 20% (b) 30%(c) 40% (d) 50%.

113. f¥rr 2/5 ufawra & ulkafda far manr g2
(a) 20% (b) 30%(c) 40% (d) 50%.
114. The 20th term from the end of the

AP 3,8,13,... 253 is
(a) 163 (b) 158 (c) 153 (d) 148
114. 3@ 2091 Ug W 3, 8, 13,... 253
(a) 163 (b) 158 (c) 153 (d) 148
Q 115. The 4th term from the end of the
AP-11,-8,-5,..,49 is
(a) 58 (b) 43 (c) 40 (d) 37
115. 3fd Y AYTUS TR -11, -8, -5, ...49 8

(a) 58 (b) 43 (c) 40 (d) 37
116. The second term of an AP is 13 and its 5th

term is 25. What is its 17th term?
(a) 73 (b) 77 (c) 69 (d) 81
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116. T UU1 &1 GART UG 13 § 3R 91 5 af UG 25
g1 ST 1791 UG &1 57

(@) 73 (b) 77 (c) 69 (d) 81

117. The sum of first 16 terms of the

AP 10,6, 2,... is
(a) 320 (b) -320 (c) -352 (d) -400
117. % UGS 16 UGI BT AT T 10,6, 2,... ©

(@) 320 (b) -320 (c) -352 (d) -400
Q 118. The sum of first 20 terms of the

AP13,5,7.9,..is
(a) 264 (b) 400 (c) 472 (d) 563
118. % UgQ 20 UGl H1 AT TR 1,35, 7,9,
(a) 264 (b) 400 (c) 472 (d) 563

119.  (5+13+21+..+181) =7
(a) 2476 (b) 2337 (c) 2219 (d) 2139
119. (5+13+21+..+181)=7?

(a) 2476 (b) 2337 (c) 2219 (d) 2139
Q 120. The sum of n terms of the

AP+/2,/8,\18,/32 ,..is

(@)1 (b) 2n(n+ 1) (c) % n(n+ 1) (d) n(n+1)

1
NA
120. AP+2,4/8,/18,/32 , & TH UG H1 TN, &

(@)1 (b) 2n(n+ 1) (c) % n(n+ 1) (d) % n(n+1)

SEC(E) ENGLISH

Q.121 to 126 . Read the words and phrases given
below. Rearrange them to form meaningful
sentences, choosing from the given ptions.

121. doing / extremely complicated / capable of /
computers are work

(i) Complicated work computers are capable of

doing.

(i) Computers are capable of doing complicated
work.

(iii) Doing complicated work computers are capable
of.

(iv) Capable of computers are doing complicated
work.
122. most complex / mathematical / problems / can
solve / they

(i) They can solve most complex mathematical
problems.

(i) They can solve most complex problems
mathematical.

(iii) Most complex mathematical problems they can
solve.

12

(iv) Can solve they most complex mathematical

problems.
123. can put / they / unrelated data / thousands / of
/ in order

(i) They can put in order thousands of unrelated
data.

(i) Can put they thousands of unrelated data in
order.

(ili) They thousands of unrelated data in order can
put.

(iv) They can put thousands of unrelated data in
order.

varied uses / can be put / computers / to
(i) Put to computers can be varied uses.

124.

(i) Varied uses computers can be put to.
(iti) Computers can be put to varied uses.
(iv) Computers varied uses can be put to.
125. impairs / human ears / functioning / of / noise
(i) Impairs human ears functioning noise.
(ii) Noise impairs of human ears functioning.
(iii) Noise impairs human ears functioning of.
(iv) Noise impairs functioning of human ears.
126. causes / it / other / complications / like / hypertension
vomiting and
(i) Tt causes complications
hypertension and vomiting.

and other like

(i) It causes other complications like hypertension
and vomiting.
(iii) It causes other complications hypertension and
vomiting like.
(iv) Like hypertension and vomiting it causes other
complications.
Q127 to 130 .Choose the correct alternative.
127. He .ooooovvree, English for five years.
(ii) studies
(iv) studies

(i) has been studying
(iii) studied
128. He..oooovvvvevies him for many years.

(ii) know
(iv) is knowing

(i) has known

(iii) knew
129.
(i) don’t work

fyou .ooooooveveiennn, hard, you will not pass.
(ii) didn’t work hard

(iii) does not work (iv) will not work
130.

[ will inform you when he ..................... back.

(i) comes (ii) came (iii) will come  (iv) has come

SEC(F)MENTAL ABILITY

131. Three out of the four options are same in a certain
way and so form a group. Find the odd option that
does not belong to the group.

(A) 1:10 (B) 20: 200 (C) 3:30 (D) 5: 55

131. 9R fawedl § 3 0t (i N S 99 8
3R T U THE S0 & | I8 doils fased J1d
PR o TYg J Feiferd 72T B
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(@) 1:10 (b) 20: 200 (c) 3:30 (d) 5: 55
132. The 2 groups of letters on the left have some
relationship between them. Replace the '?' with a
group of letters so that the 2 groups of letters on the
right have the same relationship.

ABC : EFG:: UK : ?
(A) ABC (B) XYZ (C) DEW (D) MNO
132. T8 3R 31&RT & 2 THEI & o419 $& aY 5|
31eRY & Ueh THg & WY 7' Pl gcal dli aTs 3R
3ERT & 2 THgI T THH T&e 7l

ABC : EFG:: UK : ?
(A) ABC (B) XYZ (C) DEW (D) MNO
133. What is the next term in the given series ?
3,6,9, 12,
(A) 13(B) 14 (C) 15 (D) 16
133. S TR0 G H SATAT UG |87 3,6, 9, 12, .....
(@) 13 (b) 14 (c) 15 (d) 16
134. Which of the given group of letters will complete
the given series ?
ba b _aab_a b
(A) baab (B) abba (C) abaa (D) babb
134. 3T T 31eRT & q DI 1 TYg < TS YRIa1 B
TR HATT?
ba b _aab_a b

(A) baab (B) abba (C) abaa (D) babb

135. A cube of side 4cm is painted black on the pair of
one opposite surfaces, blue on the pair of another
opposite surfaces and red on the remaining pair of
opposite surfaces. The cube is now divided into
smaller cubes of equal sides of 1cm each. How many
smaller cubes have 3 sides painted ?
(A)6(B) 12 (C)8 (D) 16
135. 4 YT YT aTel Ueh O B T [AURId g Bt
SIS} TR I, GER HI SISt WR e o1 fear mar g
R Fae! 3R g Fde) & U oS! R A
o 1 e H quIiord fban mar g udiep 1 A b
TRIR Y13l & BIC g | fohd DI G DI 3 YoITd
fafa g7
(@) 6 (b) 12 (c) 8 (d) 16
136. What is the next term in the given series ?
121, 144, 169, 196,
(A) 200 (B) 249 (C) 250 (D) 225
136. < TR SRae H SATAT US 1 82
121, 144, 169, 196,
(A) 200 (B) 249 (C) 250 (D) 225
137. What is the next term in the given series ?
41, 47, 59, 67,
(A)75(B) 73 (C) 71 (D) 83
137. &Y TfY SRael & STl US o B2
41,47,59, 67, ...
(A) 75 (B) 73 (C) 71 (D) 83
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138.A die is thrown 24 times. How many times do
you expect the number ‘4’ to come up?

(A) 6 times (B) 24 times (C) 4 times (D) 12 times

138. TH ST 24 TR B! STl g 3T '4' FeR 3 B

foha IR IHfE PR §7

(@) 6 IR (b) 24 7T (c) 4 9R (d) 12 dR

139. Mohan is 18th from either end of a row of boys ?
How many boys are there in that row ?

(A)26 (B)32 (C)24 (D)35

139. A AS®! &1 U Ufad & giHl R I 189 I
WR g7 39 Ufad & frem a2 87

(@) 26 (b) 32 (c) 24 (d) 35

140. “Soldier’ is related to ‘Army’ in the same way as
‘Pupil’ is related to ..........

(A) Education(B) Teacher(C) Student (D) Class

140. e BT TR I I I THR § o Ry
PIHEY .........

(a) TRI&MT (b) &1 () B (d) Paf
141. A man walks 3 km northwards and then turns left
and goes 2 km. He again turns left and goes 3 km. He
turns right and walks straight. In which direction he is
walking now ?

(A)East (B) West (C) North (D) South
141.@6&%@?@&?3%%%@?@7{
¢ gedl g SR 2 fdt A g1 a5 R A I gear g
3R 3 et STar 8| 9 St iR gear § SR e
ERGI aia’a%%a%mﬁaaw%?

(30 T (b) TEH () IR () a0

142. Nageena is taller than Pushpa but not as tall as
Manish. Rama is taller than Namita but not as tall as
Pushpa. Who among them is the tallest ?

(A) Manish(B) Pushpa(C) Namita(D) Nageena

142, T g7 | TS R AfT T forat ot e
®1 I Afhar I av € e gt fram & 81 B
ITH § B T el g2

(31) TS (b) T (<) AT () i

143. How many 8’s are there in the following sequence
which are immediately preceded by 6 but not
immediately followed by 5 ?
6857854368198546829681368536
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(A) One(B) Two(C) Three(D) Four

143. FofafEd orewa & U9 o 8 § d 3l
UEd 6 8 Wb Sl a1 5 2T 72
6857854368198546829681368536
()T (b) &l (c) i (d) IR

144, Fill in the missing letter in the following series-

S,V,VY,B,?
(A)C(B)D(C)E(D) G
144, Frgfafad yoar d I« 31eR &1 R—
S,V,Y,B,?
(A)C(B)D(C)E(D)G
145. What should come in the place of question mark in
the following series?
1,4,9,25, 36,7
(A) 48 (B) 49 (C)52 (D) 56
145, Fgfeied gaer 4 vy g & R W &1 37
Bl
1,4,9,25,36,?
(A) 48 (B) 49 (C)52 (D) 56
146. Flight to Mumbai leaves every 5 hours. At the
information counter | learnt that the flight took off 25
minutes before. If the time now is 10 : 45 a.m., what is
the time for the next flight ?
(A)2:20a.m.(B)3:30am.
(C)3:55p.m.(D) 3:20 p.m.
146. Yo & foIT Ttz &R 5 b o a1 gielt 8 | &
PSS W ol uar Il b faqm= 7 25 e ugd I
13 2| Tfe e 9T ag 10: 45 99 §, o 3ATE IS
BT JHI 1 8?
(A) 2:20a.m.(B) 3:30am.
(C)3:55p.m.(D) 3:20 p.m.
147. Which is the one that does not belong to that
(A) Polo (B) Chess (C) Ludo (D) Carrom
147, 98 BIF & S 39 e g1 &
(a) TG (b) AL (c) TSI (d) HRH

148. A contest began at noon one day and ended
1000 minutes later. At what time did the contest
end?

(A) 10:00 p.m. (B) Midnight (C) 2:30 a.m.
(D) 4:40 a.m.

148. T UFHAINIT Uab fa qIueR H E g3 3R 1000
B a1g T g3 | Ufaaifial B9 9T g5?

14

(a) 10:00 S5 (b) 3MMER T (c) 2:30 T (d) 4:40 TS|
149. Which of the following sets of whole
numbers has the largest average?

(A) Multiples of 2 between 1 and 101

(B) Multiples of 3 between 1 and 101

(C) Multiples of 4 between 1 and 101

(D) Multiples of 5 between 1 and 101.

149. gui st & fafofed & 9 forg ag=g &1
3 d T 981 87

(A) 1 3R 101 & &iF 2 & 16

(B) 1 3R 101 & &I 3 F TUIH

(€) 1 3R 101 & &9 4 & TUIH

(D) 1 3R 101 & &HF 5 & 0TH

150. Beena used a calculator to find the product
0.075 x 2.56. She forgot to enter the decimal
points. The calculator showed 19200. If Beena
had entered the decimal points correctly, the
answer would have been

(A) 0.0192 (B) 0.192 (C) 1.92 (D) 19.2

150. §FT 9 IdTE 0.075 x 2.56 P Wil o o1 Th
BT IUAN fHaT| I8 TIHAT 31 aol BT

Ud T3 | Sapaer 7 19200 @ afe f=r 3

SIMAd fagall &1 gt &1 ¥ ol fohdl gid, df IR

1 g

(A) 0.0192 (B) 0.192 (C) 1.92 (D) 19.2



